/. % ﬁ*a CREHEIRIVE

- fadier: R
(2x = H(Ox - 4) (6x> — 6)(2x +9)
(3x> — 5)(2x + 5) (5+ 2x)(3x +4)
(9x% + Sx + 5)(2x + 4) (3x + 8)(8x— 7)
(9 + 2x)(6x — 8) (2% —x— 1)3x—7)
(4+ 6 (x + 8) (5x — 4)(x* + 3x + 3)
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ol B kot - syteng

—MH: %:rw w: _
(2x — 4)(9x — 4) (6x% — 6)(2x + 9)
18x — 44x+ 16 12x° + 54x% — 12x — 54

(3x% — 5)(2x + 5) (5+ 2x)(3x + 4)
6x° + 15x2 — 10x — 25 6x” + 23x + 20
(9x% + 5x+ 5)(2x + 4) (3x+ 8)(8x —7)
18x° + 46x° + 30x + 20 24x% + 43x — 56
(9 + 2x)(6x — 8) 2% — x—1DGBx—7)
12x% + 38x— 72 6 — 17x% +4x+ 7
4+ 62 (x+ 8) (5x — (2 + 3x+ 3)
6x° + 48x° + dx + 32 50 + 112 +3x— 12
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